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1. Answer all the questions of the following. Each question
. . . 10%2=20
P.G. (Regular) (Semester-111T) carries 02 marks : [10x )
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ECONOMICS

0] HDI stands for :
[ Paper : PPU-M-III-(ECO)-CC-10 |

(a) Human dvelopment interest
(Indian Economy : Issues & Policies-II) ()  Human Development of India
Time : Three Hours] [Maximum Marks : 70 () Human Development Index
Note ;" Candidates are required to give their answer in their own (d) None of the above
words as far as practicable. The figure in the margin
h e g A.E. & I B
indicate full marks. Attempt all question as per given
direction ' (@) TFa FE Rd
QOER JATE™g 9T 9= H SO S 9N B 9% (b AT H AFF [IHE
I & dias & /9 O @ RY T REaEr s _
s () TE [hE TEHS
BT
(dy SRE T | FS T8
Part-A / -3

{ii) NPP stands for :
( Objective Type Questions )

(a) Net product price
(aegfrs ue) -
{b)  National Population Policy
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()  Net product Policy (©) I s B 2

(d)  Allof the above @ 9 i
W49, & goaed - ' @) National Rual Emp1oymentGuarantee was started
in:
(a) Y& AR T _
~ . ~ (a) 1993
(b) TEH™ SHEE Hiid |
. (b) 1998
(c) = TAR IR _
2001
)  I9AaT g ©
(d) - 2004

(iti) According to classical economist unemployment

_isdueto: q@qwmwméﬁm
(a) Government Intervention (a) | 4993 ] |
(b) Free Econor’ﬁy (b). 1998 i
{c)  Increase in effective demand . (©) 2001?7
(d)  toflaton - @ 2004 %

e S B GI@'HTT‘W H FHT & vy  Thamain caﬁse of poverty is :
(@ " E'E{ETTC[ | . Jgf Deféctive Planning
(b) W= ‘m (b) Good Banks
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{vi)

- 9205-10/240

{c) More productivity
(d) All of the above
THEl & = BT
(@)  AAYE
(b) o= %

()  Higp IRl
(dy Il &I
FEMA isrelated to:

(a) Foreign Exchange
(b) Welfare

(c) Taxation

(d) All of the above

Gr TR ¥ ;o
@ fah R
©  wE

(5)
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(vii)

(viii)
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(c)

(d)

RO
Irda ol

Which is the source of revenue .

_f(a)

(b)

()

(d)

Land
Taxes on sales
Tolls

All of the above

T § ToRd H A ©

(2)
(b)
(c)

(d)

T
fah T

a9 .
mﬁhﬁ¥ﬁ1

Symptom of Industrial sickness is :

(a)

(b)

Drop in sales

More sales

(6)



hY

(c) Increase in demand
(d) Low supply

(a) PEh ¥ A
(0) i féa%
© F T
(d) gﬁ‘f =
i}x) W'rd is established in -
January, 1995

p \e=A(d)
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(b) March, 1994
(6)  August, 2001

(d)  April, 1996

(@) a4, 1995
(b) WM, 1994

(7)

[P.T.0.]

o) - SR, 2001

() P, 1996

Major organ of fiscal policy is :

(x)
(a)  Production
s up) Ta-x policy

(c)  Money
(d) R%te of interest

@ S
©),  FEA
© FT o
@ TWHK

Part-B.‘ [ A9
‘.(ShmtA"_sWQf Type Questions)
(ﬁgk Gc’d‘ﬁﬂ qel)
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Note: Answer any four questiorils of the following. Each

A

9205-10/240 S(9)

question carries 05 marks ;. [4%5=20]

frafafaa & 9 = ar 9591 3 Sov dfm oom
97 05 3B F

What is poverty? Give four causes of poverty.

T 7 37 3D AR HIO TR

Is India a overpopulated 'countrﬁr?

N AR T R T 32

Discuss the ?mport_anc?of.agr-iculture in India.

T ¥ B B e @ o B

What is Fiscal Deﬁ;:it'? is"it important fora underdevei_oped

country?

TR e E 3P 9 ordReRE T & R

STAYTF ol

Point out the causes of econdmié backwardness of Bihar.

._;;ﬁmn:%~ﬂ@haﬁm3¢i§5mﬂﬁiwrumﬁraﬁmu

[PT.O.]

part-C { A4

(Long Answer Type Questions)

(& Swda W)
e following. Each

Note.: Answer any three questions of th
[3%x10=30]

question carries 10 marks :

Areffag & ¥ el A9 wﬁﬁi% Gﬁﬁ‘éﬁﬁQlBﬁkﬁ
ﬁ${1oaﬁﬁaﬂ%1 .

What are the causes of Iow productivity of Indian

' / agriculture. Howthey can be removed?

aREE i & Eﬂmﬂ%ﬁ‘% N mnm'%?:aﬁm
ﬁﬁF{ﬁﬁiérﬂmar%? - .

2. “India is rich but the people are poor". Discuss the
statement. https://www ppuponlme com
_ “grRd Eﬁ'%'aﬁFIéWTﬂﬁﬁf%f’zﬁ maﬂ'étgﬁe
Fiml
3f What are the cauées of industrial sickness of Bihar. Give
' remedies. ' R '
freR & SR Som & ® HT &7 AR b S
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(4.

Write an essay on Environmentat Degradation causes
arid remedies. |

Waﬂﬁmﬁﬁaﬁw&%@ms
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